EAGRAROBREERT — 2 N— ABISH —F

2020682780 (£) 3mEFR#HH7H

1R REEEXY

REEH i

‘ [R1%] & ‘ [REBB] — | & (%) 18000 B

[A~&£] 1 7% :5,100,000  ~ 23 :2,000,000 § 3 7 :1,300,000 M

/43 :770,000 5 & :510,000 M

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
S . 3 | PHBC 1:53.6 13-13-7-7 | 37.9| 86.1 | 3 484 | FREFEE (ER)
1 5| A MYaunyy 56.0 ) AR il
:Er7AYY BiXA2audues FREHS
7S S > 3| f@Kth— 1:53.6 1-1-1-1 | 38.5| 86.2 | 4 476 | BE (ER)
2159 | A7—TY—ILX 7| 6.0 (723 C1g) | ) N1CKS
LTI ATy 794 YT — BiLy R T AXAINT 7—L
= i —s\ # 3 | C. x—b 1:53.8 6-6-4-3 |38.3| 84.4 | 1 472 | AHEER (BR)
3(7|14| 7T TLT-NT > 56.0 (1 1/4) () | TYELERR
Z:d—IR7Y2—)b B:O4vINILS FHBSE
S5 # 3 | K& 1:54.4 2-2-2-2 [39.2| 79.5 | 2 546 | BEMER (k)
4 1 ThHRY 56.0 (31/2) (+22) dJRILT 1>
L840 BV v N= =X ZN— H—L— - JviX> - T7—LARS
. # 3 | BEAS 1:54.4 3-3-4-3 [38.9|79.3| 5 488 | FZIUEERE (W)
51101 | VEXHZ= 5.0 (26 o | BEEIHTRR
L:d=IRT7Ua—b B7T3 XN — =lizkae]
2 _ 4 3 | FAAHE 1:55.7 16-15-14-12| 38.8 | 67.9 | 13 | 474 |BEIEEZ (ER)
611127V /EvIRE #:55.0 ®) (ta) | EATEEE
L:bh—t>Ta—4> B:YILTILIR FEFWL A
1) 4 3 | FREER 1:55.7 5-5-4-3 | 40.2 | 69.3 | 8 492 | REEME (BXR)
7 8 9*1’12*( 7 U Y v ¥¢55.0 (74%) (-a) Mgz
R:hE-—X3—F— B:&2ILITFA b Bk JiE—
o . 4t 3 | BIHF 1:55.8 7-8-9-8 |39.9| 68.2 | 10 478 | BBE—% (ER)
sy 2 EX7H—F1> 56.0 (1/2) 42) | D FrEsL- Y274
R:95>TYKR B:Ea—F1—EX HE%5
1) : #o3 | et 1:56.0 10-11-7-10 | 40.2 | 66.9 | 11 490 | FBR (ER)
ol 6| 7V rE—H [B] 5.0 (374 o | B 5Tz
R:YZXE—3Z228— B:78YTyTIT hEHS
o 4 3 | REAR 1:56.4 15-16-15-15( 39.1 | 62.2 | 14 | 490 |MAE (R=X)
107[13| 7*x<% 7 [BI 453.0 @ 1/2) o |EBX
R:Z2¥—hT770a> BHYIZXYTSAX NS
= 3 | ERE 1:56.6 7-6-9-8 | 40.9| 62.9 | 9 470 | EAET (R®R)
1] 2 I 6.0 M O |UoHE
Z:2hkArTUE=r B-ANZZ20O7> BH T
5 # 3 | BERX 1:56.8 10-9-12-11 | 40.2 | 60.4 | 15 | 480 |=iT#tL (=)
V] + AR s 56.0 ( 1/4) (-14) | BEEBRSE ()
Ri—5—Yy 7T B:ITN—-3I2TZ/— HBITr—L
= 4t 3 | BAUELF 1:57.1 3-3-3-3 |41.7]60.1 | 6 544 | KARES (ER)
13/8l15| 7777 A 56.0 (1 1/2) (-4) (H);U—I{?V—>>7
R:TvRE2Y14 BA—0G40L AL S
= N [ # 3 | BE® 1:57.9 13-13-16-15| 40.6 | 52.2 | 16 | 492 |ZHHE3L (ER)
EE 4| TAXYFY X 56.0 ®) (g |EHY
RRTIRATA I VT — B:RU—LFxEx EKZ &y K
S : o3 | ERER 1:57.9 9-9-11-12 | 41.2| 53.2 | 7 484 | AEENT (RR)
15/ 8116 N—L LI+ KR '7 56.0 (7€) (+4) ARIFI—
R:xA1=ZGr7—R B:7—K/INT— 24 N1 i
. 4t 3 | FEE#R 1:58.4 10-12-12-14| 41.6 | 50.1 | 12 | 482 |ALHIEKA (3RR)
16/5[10| YTV 6.0 @ Co | @8 B-LiL-vry
LUTNALINT N BT roxA R iz Let
@ 71 L
) 51.4-38.5
NA> &AL | 12.7-10.9-13.0-12.8-12.8-12.9-12.9-12.8-12.8
® I —F—@EBIERL
13=3F= (x9,11) (1,15)8,14(3,12)16(7,6,10)-(4,5) 13,2
2o =7= 9,11(1,15)8(3,14)12(7,16)6,10(4,5)-2,13
Fol=5r= (¥9,11)15(1,8,14) (6,5) (3,12)-16(7,10)2,13,4
40—+ — (x9,11) (1,8,15,14)5(3,12)6-7(16,2) 10- (4,13)
[ N3
BB 5 740H 714K 5-9 770 e E 3-5 4,310H JEHE 5-9-14 1,330H
18 B 5 1509 5-14 220M B = 5-9 4,120 K31 5-9-14 18,140M
9 220M 9-14 350M B H 5-9 8,380
14 110

ABRICOVTHRTEEERROODE, THEB LS,




